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Q.No: 1 Select the false statement about 'Varahamihira'.

2426955

"RIGMAMRY & IR 7 e By BT 9T B

He was a great scientist during the Mauryan age.
A

| 1 § 3 TP HeW At A1

He wrote 'Brihat Samhita'.
B

SR "geq wfear e

He also wrote 'Pancha Siddhantika'.
C

IR v Rygifaer o frar ai

He wrote famous book on different branches of Jyotishastra.
D

I SO I Y ol wmarelt w vitg gww fordh

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Thumri is related to which of the following dance?

2427027
Frofafa ¥ 4 grd s Iy P @ IR ?
Kathak
A
DYD
Kathakali
B
FUB
Kuchipudi
C
ELiS
Bharatnatyam
D
WRAATEH

Correct Ans : A

Subject : General Knowledge

Q.No: 3 Who won the lone gold medal for India in Tokyo Olympics-2020?

2427528
Sl SR -2020 H WRA $ G weAm Wl ge@ e Siare
Mirabai Chanu
A
LRCER TS
PV Sindhu
B
it Riy
Lovlina Borgohain
C

FaET SRR

D Neeraj Chopra
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AR Tt

Correct Ans : D

Subject : General Knowledge

Q.No: 4
2427973

Which of the following is not a feature of the Ryotwari System?

Frofafea # 9 SF-d Yadars sraen ot fatvar 72 82

The cultivator (ryot) was recognized as the owner of his land as long as he paid the land revenue.

fram (Xaq) &) ST@! Y & Wit F U § q9 95 TgHHT Sl 4T 59 G 98 Y=IoRd T YTIaI SRal o

The revenue was paid directly by the cultivator to the revenue officials.

GG FT YT $IS GRT Y o sl ot f&ar s o

The revenue was fixed for 30 years after which it could be revised.

R 30 el & o o o T o1 gy @1e, 39 Wi faan i e i

There was a system of remission of revenue if the crops failed.

T A% B IR IO B ge Bt gawd i

Correct Ans : D

Subject : General Knowledge

Q.No: 5
2428894

The Group of Eight (G8) refers to the group of eight highly industrialized nations, was formed in which year?

T3 T UG (G8) M HAfF Sieinfipd AP & TE P Galiid HXar §, forae 16 few af fan war are
1999

1999
1975

1975
1987

1987
1943

1943

Correct Ans : A

Subject : General Knowledge

Q.No: 6
2430524

In which of the following sports 7 players do not play from one team?

A A Y o O & ue 9 @ 7 faard 7dl Qa2
Kho-Kho

g r-g
Netball

Jear

Waterpolo

Frexrar
Kabaddi

g

Correct Ans : A

Subject : General Knowledge

GET IT ON

Google Play
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Q.No: 7 Who was the viceroy of India when the Chauri Chaura incident took place?

2433602
I-FRT B F THT HRA BT TEERE BT A1
Lord Chelmsford
A
S IBIS
Lord Reading
B
SICRiE
Lord Hardinge II
C
e ifém 11
Lord Irwin
D
e i

Correct Ans : B

Subject : General Knowledge

Q.No: 8  The strait of Hormuz lies between which of the following two seas?

2437263
e SrrsHEAYy e # ¥ 57 3 et & fE fRa
Black Sea and Dead Sea
A
BT AR SR T TR
Red Sea and Black Sea
B
T R 3R ST R
Arabian Sea and Mediterranean
C
3R AR 3R Y7eT TR
Persian Gulf and Gulf of Oman
D

BRY P WL IR A F '
Correct Ans : D

Subject : General Knowledge

Q.No: 9  Alha folk song is associated with which of the following states?

2440753
Teg1 drpta fRafefaa # § fea Tou & dfta o2
Madhya Pradesh
A
e ue™
Bihar
B
ferR
Orissa
c
IS
Chhattisgarh
D
R

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Which bowler became the youngest bowler to take 400 T20 wickets in Men’s Cricket?
2440828

7w fipdpe & 400 <120 faFe A7 97 IS99 FH IY F AaW B T?
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A Yazuvenrdra Chahal
EECEER S
Adam Zampa
B
TSH sl
Rashid Khan
C
orefie @F
Jasprit Bumrah
D

Sl §RIE
Correct Ans : C

Subject : General Knowledge

Q.No: 11 The 'Tulsi Utsav Raghunathgatha' celebrations occur on the occasion of every -

2441043
TR SHA TGN TG UGS S IR WS -
Holi
A
et
Makar Sankranti
B
HHR Gepifal
Deepawali
C
Sfaraet
Navratri
D
eI

Correct Ans : C

Subject : General Knowledge

Q.No: 12 In which year Ashok Kumar was honoured with the Dadasaheb Phalke Award?

2441291

3P PAR P S1aT T6d Bieh SR 4 59 a¥ Frmia fan mr e

1976
A

1976

1979
B

1979

1985
C

1985

1988
D

1988

Correct Ans : D

Subject : General Knowledge

Q.No: 13 Rani Avanti Bai was the Queen of which place in Madhya Pradesh?

2441318
IR et 9TS Hem TR H fobw i @t W ot
Ujjain

A
JoH

B Rewa
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a1
Jhansi
C
e
Ramagarh
D
Ry

Correct Ans : D

Subject : General Knowledge

Q.No: 14 Shipra River is a tributary of the river

2441429
Ronadt, 9 U e A 8
Chambal
A
ECG
Narmada
B
ifer
Betwa
c
Eoel
Banas
D
CEIk ]

Correct Ans : A

Subject : General Knowledge

Q.No: 15 How many National parks are there in the state of Madhya Pradesh?

2441568
HY1 TR X A b Wt e R
4
A
4
B
7
8
c
8
10
D
10

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Madhya Pradesh has India's first green-field Special Economic Zone in —

2441651
He YA H A Bl Tgell FH-wies g onfife 41 3 F
Gwalior
A
R
Shivpuri
B
Rragd

Cc Chindwara
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Toaarer
Pithampur

drmgR

Correct Ans : D

Subject : General Knowledge

Q.No: 17 IIITDM (Indian Institute of Information Technology Design and Manufacturing) is located in -

2441687
wRdG TE e, eiftipea ol R Seim (o o o & <.uw. ) wef R B2
Bhopal
A
*laret
Jabalpur
B
SIS
Gwalior
C
iR
Indore
D
@R

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Before merging to form the State of Madhya Pradesh, the Vidhan Sabha of Madhya Bharat had how many members?

2441743
T Y3 I8 S & AT faery & uga, Hed HRd &1 faurgan # fbaq Taw 37
40
A
40
55
B
55
60
c
60
75
D
75

Correct Ans : D

Subject : General Knowledge

Q.No: 19 Under which article of the Constitution is the State Election Commission constituted?

2441761
TRy & 59 ST & I8d g8 WaUH ¢ [ IS GG SR &1 e frar sme?
Article 243-ZA
A
TG 243-ZA
Article 244-ZA
B
DTG 244-ZA
Article 242-XA
C
ITVE 242-XA
Article 241-XA
D

ITWE 241-XA

Correct Ans : A
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Subject : General Knowledge

Q.No: 20 Where is the headquarters of the World Intellectual Property Organization located?

2442439
fay ST Hua1 Ge &1 JEaed Tl fRE §2
London
A
de
Paris
B
e
Geneva
Cc
o
New York
D
R

Correct Ans : C

Subject : General Knowledge

Q.No: 21 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2422819 apgwer to the question from the given options.

ASSERTION (A): The use of pesticides in the agricultural field causes water pollution.

REASON(R): Draining off the untreated water to the nearby water bodies affects the aquatic habitat.
A Fofafed vy 7 < Hu § R 3 e & aifiieaT iR R 31 "SRU" F w0 A Aqq a7 T 31 et §7 G sl 3 areurigds s e 8 ok Ry u fwed! § § uy o1 w9 3w
U (A) @ FY & T BleARIS! S TN § od Uguor g

PHROT (R): 3MY-UM & o (Aol 7 sguania ot 3 orh o sram & yuifad et 1

The (A) is true, but the (R) is inappropriate.

A
(A) ¥ § A (R) TG 81
The reason is correct, but the (a) is incomplete.
B
PR FE § AP (A) TR
(R) is the true, and (A) is false.
C
(R) T T 3R (A) 3@ T
(R) is the correct reason behind the (A) statement.
D

(R), (A) $UF F 11 T HROT B
Correct Ans : D

Subject : General Science

Q.No: 22 what are the major sources of freshwater?

2422838

TS F T S & 82

Rivers, ponds and springs
A

i, arens R TR

Tub, tap and glaciers
B

T4, 74 IR fewTa

Ocean body and glaciers
C

TENIRE e R RaTe

D Sea and ocean
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5 3R TEETR
Correct Ans : A

Subject : General Science

Q.No: 23 What are the minor water bodies of the earth?
2422843

guft F 7Y oI e I § §2
Bays, Gulf, and Straits
A
3, G 3R SRS
Oceans and Seas
B
HEETRY IR W%
Lakes and Oceans
C
il iR gy
Oceans and Strait
D

TENIR 3R SasHeas
Correct Ans : B

Subject : General Science

QNo: 24 - According to the National AIDS Control Program and UNAIDS, 80-85% of HIV infections in India

2423000
occur through what?

TET T3H 0T SR A N JUATSHE F R, HRA H 80-85% TANSAT HHAUT
Frad AreTA ¥ 8 27

Shaking hands

A
a1 iy
Unsafe sexual contact
B
SgRfda I Hud
Not showering
C
e T
Medications
D

an
Correct Ans : B

Subject : General Science

Q.No: 25  Which country has the largest number of diabetic patients in the world?
2423010

fay # fpw <@ o mefle & AR 3t Jom wad 3@ B2

UK
A
g%,
Australia
B
sitegfiran
USA
C
ST
India
D
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Correct Ans : D

Subject : General Science

Q.No: 26 What is a state of complete physical, mental and social well-beingness, and not merely the absence of any disease?

2423031
oot iR, AR SR A wen B RuR a3, 7 R St Rl A o srurRR?
Health
A
W[y
Disease
B
/|
Inactive
C
ffssg
Disorder
D
@R

Correct Ans : A

Subject : General Science

Q.No: 27 What are the features that enable the fishes to balance and move freely in the water?

2428015
T B < fdang § S wefmi @1 o H dger S SR WadE 0§ T 7 94 TR 62
fins and powerful tail
A
T SR AfFTe i
scales and gills
B
T 3R PG
spindle-shaped shaped body and spiracles
C
it ¥ PR F1 R IR R
long tail and long beak-like snout present in sea horse.
D

gl 13 A g it o o it St S el
Correct Ans : A

Subject : General Science

Q.No: 28  Which one of the following is the characteristic feature of angiosperm?

2428029
Frofafga & 3 o RErf (angiosperm) @Y faiwar g2
large showy flowers
A
73 ot g
simple plant
B
TR Qe
pine and cedar
C
TE 3R AR
thallus like body
D

e ST TR

Correct Ans : A

Subject : General Science

Q.No: 29 Check the odd one out:
2428784
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fawm o1 &t %

pathogenic bacteria to the host

UoiaH & Ry Avere Sadfar

pili

foreft

sexual reproduction

A Yo

nostoc

Birsic
Correct Ans : D

Subject : General Science

Q.No: 30 Which one amongst the following is not a characteristic feature of pteridophytes?

2428815
Frofafea & & & w1 Rewrey Pt fadva T8 §2
True stems and leaves are present.
A
RafeE T SR T wieg
Gametophytes are small and independent
B
TSRS BT IR W §
Plant body is sporophytic
C
i &7 IR demafRg B
Plant body is gametophytic
D

) 7 IR THPIRE ¥
Correct Ans : D

Subject : General Science

Q.No: 31 The smoke from the industry will pollute the air and cause disease.
2429009

FEnT & e arar yaif gar &1 vgia S ofR dEnt BT FROT AT

Asthma
A
SIRYHT
Polio
B
Qi
Coronavirus
c
BRI arRRY
Malaria
D
T

Correct Ans : A

Subject : General Science

Q.No: 32 Harmful effects of deodorant is
2429022

g™ & gifeRS uuE §

There is risk of air pollution

T TGN BT TR ¥
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B 1here Is risk ofr breathing problem

T T B TN BT G ¥

There is a risk of skin diseases and skin cancer due to aluminium chlorohydrates.

T SERITIESe 3 BRI @ I AR @ HI 1 Tl ¢l ¢

There is a risk of eyes problem

Sl F T H1 G 3
Correct Ans : C

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429024 ngwer to the question from the given options.

Assertion(A):Greenhouse gases absorb the heat of the sun and revert back to the surface of the Earth.

Reason(R):Causes an overall increase in the temperature of the earth leading to global warming.
P Pofafad uy 3 < oy § O 3t 3 ey iR g &1 "SR & FU H Aqw 597 T 1 STUS! 37 Sl Sl 3 FIaUFIgd® g S § iR T e et § & uy o 98 I
By (A) : FEew 6 g @1 1 &) saRiiia wd) § R Ao gl # Fag | de i €1

PR (R) : 3t F qaae & W 3 F SR e aftf et @

Both A and R are true

A

T 3R SR S o §

Both A and R are false
B

T IR o it o §

A is true but R is false.
C

T U § A IR A §1

A is false but R is true.
D

T 39T € M IR qa B
Correct Ans : A

Subject : General Science

Q.No: 34 water-gas is the mixture of and
2430058

S ek wIfury

Sulphur oxide and Hydrogen.

A

Fou Sffenes IR g

Sulphur oxide and Nitrogen.
B

TR SIS 3R LI |

Carbon monoxide and Hydrogen.
Cc

F AISiaEEs IR FIEgeH|

Carbon monoxide and Nitrogen.
D

FIeH TSRS 3R AR

Correct Ans : C

Subject : General Science

Q.No: 35 Name the polymer used for making rope?
2430137

Tt 9 A W B 9Ta Sgas ot A1y fafau
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A Polythene
L GiRiE
Polymer
B
aga®
Silk
(9
K]
Terycot
D
e

Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422591
5,8, 12,17, 23, 28, 38
SRgell § TIeTel oH BT Ul T
5,8, 12, 17, 23, 28, 38
12
A
12
23
B
23
17
C
17
28
D
28

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the wrong term in the series?

2422611
1,2,5,12, 27, 58, 100
s@al H TTed HH P el T
1, 2,5, 12,27, 58, 100
58
A
58
100
B
100
12
c
12
5
D
5

Correct Ans : B

Subject : General Reasoning
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Q.No: 38 Find the odd word out.

2424519
ST TeE BT TG Pifg
Wankhede Stadium
A
TS RS
Lords Stadium
B
dide ®fsam
Wembley Stadium
C
It Rfgam
Eden Gardens
D

A ME
Correct Ans : C

Subject : General Reasoning

Q.No: 39 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

2426297
ACEG : SUWY :: BDFH : ?
I SHER-TIE BT TG Y ol R 3ER-T0g A S TR Fafq § Y g S1eR-TE, U S1eR-ug F Weifdd 71
ACEG : SUWY :: BDFH : ?
TVZX
A
TVZX
RTZV
B
RTZV
TVXZ
c
TVXZ
RTVZ
D
RTVZ

Correct Ans : C

Subject : General Reasoning

%1'\‘206:34907 Select the option /number which is related to 3 number in the same way as 28 number is related to a
1t number?
17:52:19:?

30 TEAT [faseT & 79 H{ S SOl §Ea ¥ 3H YR §EOd § S gEy TEAT gger
& @ F@EleT ¢

17:52:3219:?

58

58
55

55
79

79
95

95
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Correct Ans : A

Subject : General Reasoning

Q.No: 41 Choose the numbers which is different from others in the group?
2426475

R e T & Rye W& B T w2
42-24

42-24

13-31

13-31
67-76

67-76
55-44

55-44
Correct Ans : D

Subject : General Reasoning

Q.No: 42 How many people play either Chess or Golf?

2426572
Chess A Golf
AVA
Poker
T RT A SRt 1 e Fed 82
Picecd s
A
AVA
R
175
A
175
155
B
155
145
C
145
105
D
105

Correct Ans : B

Subject : General Reasoning

Q.No: 43 In the given diagram, Triangle represents joint family, Rectangle represents married people and Circle represents house wives.
2426607

How many married people are house wives but not lives in a joint family?

fow mu o #, Brys wged uRar @1 ufffia o 7, omad faafed @i 1 ufafiica SRar § ofR 99 Tfefomt @1 ufafiie s @)

GET IT ON

Google Play
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e faarfea < yfgolt € e vge oRar & = & 82

a4
A

a4

5
B

5

9
Cc

9

1
D

1

Correct Ans : B

Subject : General Reasoning

Q.No: 44 Pointing towards a boy, Kangana said, “He is the son of only son of my paternal grandfather.” How is that boy related to Kangana?

2429577
TF TSH Bl 3R IR B §Y, T A $gT, T8 I 3181  Iha T3 1 T 21" 8 I8P S 9§ 5 TR Hafda g2
Father
A
forar
Father-in-law
B
R
Uncle
o
Ca|
Brother
D
g

Correct Ans : D

Subject : General Reasoning

Q.No: 45 Pointing to a photograph, Preeti said, “his father is married to my sister-in-law’s mother-in-law”, then how is the person in the photograph is related to Preeti?

2429603
TP TER P 3R IR P g, W 3 el, "S% far o1 faare A8 wmft 3 9 9 g 3, o o=k arer quida Wiy & frw vsr e 82
Brother
A
o
Father
B
o
Brother-in-law
C
@R
Uncle
D
el

Correct Ans : A

Subject : General Reasoning

Q.No: 46 Identify the figure that completes the pattern.
2433481
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I PR B U R S A B @@ et B

1Y

4

2
N ] KL

Correct Ans : A

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.

(o)

I o B TgaH B S Ao B Q@ A B

1N
(o

L)
L)
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Correct Ans : B

Subject : General Reasoning

Q.No: 48 In the following question, select the odd number from the given alternatives.

2435052
Frofifea vy & e e e # I Rvw JBn a1 957 ik
1331
A
1331
4913
B
4913
343
c
343
512
D
512

Correct Ans : D

Subject : General Reasoning

Q.No: 45 Find the number of rectangles in the given figure.
2438097

& el B emdi @ G i BT
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14
A

14

15
B

15

16
C

16

12
D

12

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Select the option that is related to the third word in the same way as the second pair is related to the first pair.

2438372
Dog : Cat :: Barking : ?
I e 31 709 FX S RN Weg § I TR s ¥ I @R W U g § Wl B
par e @ i 2
Meow Meow
A
SRS
Fluff
B
P
Sing
C
PIHIE HAT
Twitter
D
aEagHl

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Lalitha started from her house and walked 6 km towards north, then 3 km towards east, then 7 km towards her left, and then 4 km to her right, then 10 km towards south anc
2438492 her right. In which direction is she from her house?

R oA R T T A iR 6 5 I #1 o, R 3 ot g 3t oiR, fhR 7 et g 8, SiR i 4 farelh o aiR, fsR 10 fordh S féor #t ofR ok o & 3 ot a1 &R wefll 98 o

South-east
A

afeor-gd

South-west
B

SRgur-ufdm

North-east
9

Il

North-west
D

FR-uEH

Correct Ans : C
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Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440184 (opgistent with the main statement.

If he sleeps in the afternoon, he gets lazy
A. he sleeps in the afternoon

B. he gets lazy

C. he does not sleep in the afternoon

D. he does not get lazy

fow 7T vy @ T FUA SR ISP 918 IR B 8| FY! BT B G I, ToT I8 HUA FT A0 GER Y F B, IR € T AIfhe FU Y G HYA T W B
Ife 95 SueR # T 8, T T8 Smerd g1 ol §

A. 98 SUeR § Fiar 8

B. 98 S g1 e §

C. 98 gk & 78 W

D. T8 3freril el g

AB

AB
BA

BA
DA

DA
cD

cD
Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440360 (opsistent with the main statement.

She does either yoga or aerobics
A. She did yoga

B. She did not do yoga

C. She did aerobics

D. She did not do aerobics

fow MY g B GBI U SR IES 98 TR FUA &1 FUAT BT BT G T, TET Ted FUH BT ad gER FUF 9 B, 3R & U A1l T F I FYH F 9 81
g 1 @ A Fdt § A1 TS

A. G T foar

B. I AT el foar

C. I8 Wifvew fear

D. 351 Gifay 7 fmar
cb

cD
DA

DA
CA

CA
AB

AB

Correct Ans : B
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Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440390 (opgistent with the main statement.

She is preparing for either UPSC or SSC
A. She is preparing for UPSC

B. She is not preparing for UPSC

C. She is preparing for SSC

D. She is not preparing for SSC

foT T v § g U SR I9F TG TR BUT §1 FUA! BT B IH I, TE1 T5Q HUT BT a0l g FUF G , R q FUF AP FU F JOT BT § W 3
T8 1 A giteeh o vared) F AU R IS

A. T8 ghieafl 31 R SR @ 7

B. 98 gUTERR Bt Rt TE PR IE

C. 78 TACERT @ i B e

D. T¢ THTH & 3T T B @ ¥

AB
A

AB

DA
B

DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441957
NINE : ENIN :: FROM : ?
I e 1 799 ¥ S R U I S TR TElid ¥ O TPR gERT UG Ued Ue I Wefi © |
NINE : ENIN :: FROM : ?
MROF
A
MROF
MOFR
B
MOFR
MORF
C
MORF
MRFO
D
MRFO

Correct Ans : C

Subject : General Reasoning

Q.No: 56 . ifv- 20— (40+35 =
5432541 Simplify: 20— (40+35+7)

WA SN 20— (40 +35+7)

A 25
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25
24

24
30

30

-25
Correct Ans : D

Subject : General Maths

Q.No: 57  Simplify: 102-[79 - {21 +2(0 - 7)}]

2422366
WA ST 102 -[79- {21 +2(9-7)}]
38
A
38
23
B
23
48
C
48
37
D
37

Correct Ans : C

Subject : General Maths

Q.No: 58 A sum amounts to Rs.3254 at 20% per annum in 2 years, compounded annually. Find the sum.
2423603

T AR 3254 FUY, 2 WA H 20% vfd a9 3t R F, Al aramn 3 3 S
Rs.2259.7222

A
Rs.2259.7222
Rs.330.213
B
Rs.330.213
Rs.1987.1957
C
Rs.1987.1957
Rs.8765.321
D
Rs.8765.321

Correct Ans : A
Subject : General Maths

Q.No: 59 Find the compound interest on Rs.10200 for 9 months at 28% per annum compounded quarterly.
2423618

10200 ¥ T 28% Wi 99 F R F 9 WA &1 IH9fS saret i PITY, af s A 3 B
Rs.2295.4386

Rs.2295.4386
B Rs.23456.6534
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Rs.23456.6534

Rs.3890.34540

Rs.3890.34540
Rs.25678.11321

Rs.25678.11321
Correct Ans : A
Subject : General Maths

Q.No: 60 Solve:
2428583

(6225 x 4 + 468 =4 225 x 25-[6321 - 58 x 9 + (3.3 = 3 + 4.50f )]}

uk:zd
(6225 x 4+ 464+ 4-25x25-[6321 - 58 x 9+ (33 + 3 + 2 & 45)))

220.8
A

220.8

233.9
B

233.9

222.8
C

222.8

222.5
D

222.5

Correct Ans : C
Subject : General Maths

Q.No: 61 The middle number among 13 consecutive natural numbers is 31.Find the sum of the 13 numbers?
2432525

13 HHNTT UIpd HSMST & 77 T 31 §1 13 G 1 90 J1d Siow?

303
A

303

603
B

603

403
C

403

503
D

304

Correct Ans : C

Subject : General Maths

i Ifp2+q2+12=68 and p + q +r = 14, then the value of pq + qr + 1p is

Ui%p2+q2+r2=68 SnTp+q+r= 14%,Fﬁpq+ qr+1p$ﬂ?[$||\>5|QI

36

36
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48
64
c
64
56
D
56

Correct Ans : C

Subject : General Maths

Q.No: 63 1 1
2434739 ——— f ————=?
1+a"™ - 14am)

1 1
_ =
1+a™ 14 m
0
A
0
L
2
B
1
2
1
c
1
am*‘ﬂ
D
aﬂ]ﬂ"ﬂ

Correct Ans : A

Subject : General Maths

Q.No: 64 B s
2434769 ¥ o
If ab + bc + ca = 0, then find the valueof @ b’ ¢
3.,3.3
giGab+be+ca=0g,dl & b ¢ &I HH A B
9abce
A
9abce
2
abc
B
2
abc
9@+b+c)
c
9(@a+b+c)
9
a+tb+c
D
9

a+b+c
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Correct Ans : B

Subject : General Maths

Q.No: 65 Find CPwhenSP=51.70 andloss =12 %
2435214

B T T BifoR) o fashd ged = 51.70 ARG =12 %

Rs. 58.75
A
58.75 ¥
Rs. 55.34
B
55.34 ¥
Rs. 51.70
C
51.70 ¥
Rs. 55
D
55 30

Correct Ans : A

Subject : General Maths

Q.No: 66 A man purchased 80 kg of rice at Rs. 13.50 per kg and mixed it with 120 kg rice at Rs. 16 per kg. At what rate per kg should he sell the mixture to gain a profit of 16%?

2435234
u:manaﬂﬁ 80 e =ae 13.50 ¥ Wfa fobel R et @R 39 16 T wfa foraiam & Hea arar 120 fordmm wiaa & 9 feamn @ 16% o1 W S & g 3§ o 1 fedom &
2
Rs. 19
A
19 304
Rs. 20.5
B
20.5 3@
Rs. 17.4
c
17.4 394
Rs. 21.6
D
21.6 ¥

Correct Ans : C

Subject : General Maths

Q.No: 67 Kabir buys pencils at the rate of 11 in 10. He sells it at the rate of 10 in 11. His profit in percentage is equal to

2435294

FER 10 11 P RIMA TGN T® 117 10 P R I 3 39 31 31 ST WA= A IR §

10%
A

10%

11%
B

11%

20%
c

20%

21%
D

21%

Correct Ans : D
Subject : General Maths
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Q.No: 68 {(0.98) +(0.02)+3 x0.98 x0.02— 1} is —
2437472

£(0.98) +(0.02) +3 x 0.98 x0.02— 1} BIAF AT B |

1.562
A

1.562

1.09
B

1.09

o
C

(1}

1.98
D

1.98

Correct Ans : C

Subject : General Maths

Q.No: 69 , 3 T
2437492 How many quarters are therein!25 7

1223 forer) Fremd w2

75

75
72

72
51

51
68

68
Correct Ans : C
Subject : General Maths

2‘4'\‘307:57502 Atankis é‘h filled with water. Another 15 L of water is needed to fill the tank completely full.

Whatis the capacity of the tank?

T & Bl 2q1 lGRIUF & W1 31 80 $I Il TRg ¥ WA & faw o 15 effexurfi it
anaw%l’z’maﬁgmmm:ﬁ%?

50L
A

50 ot

100 L
B

100

25L
c

25 @t

14L
D

14

Correct Ans : C

Subject : General Maths
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Q.No: 71 Ifin a symbolic language ‘DECEMBER’ is written ‘ERMBCEDE’ then *"NOVEMBER'’ will be written in the same language as?

2422541
T faet Aichfa® w1 & 'DECEMBER' &1 'ERMBCEDE' feran ST df 'NOVEMBER' &1 31 w1 # ferar smom forae?
EPTEMBERS

A
EPTEMBERS
ERNNBVENO

B
ERNNBVENO
ERMBVENO

C
ERMBVENO
ERMAVENO

D
ERMAVENO

Correct Ans : C
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘SINGER’ is written ‘AIBCED’ then ‘GINGER’ will be written in the same language as?

2422571

gfe fpdt Fishfos T & 'SINGER' ®1 'AIBCED' iRl 9T @ "GINGER' 1 3T 11 7 fern g forasl?

CBIECD
A

CBIECD

CIBCED
B

CIBCED

CBICED
C

CBICED

CIBECD
D

CIBECD

Correct Ans : B
Subject : Mental Ability

%tl\lz°5:57s39 In a row of 45 bottles, white bottle is 17 from right end. Then find the rank of white bottle from left
end.

diql B Us e § Gibe dlad ol BR T 173 VM R g1 0 918 SR I Tihe Siqa 31 35 F1d Piorg?

25
A

25

27
B

27

28
C

28

29
D

29

Correct Ans : D

Subject : Mental Ability

Q.No: 74 If MOBILITY is coded as 46293927, then EXAMINATION is coded as?
2426507
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I MOBILITY &1 46293927 & U W SIS 1hdl Ol g, dl EXAMINATION $1 34 UDHR HIfgd Thdl SIIdl §

45038401854
A

45038401854

56149512965
B

56149512965

57159413955
C

57159413955

67250623076
D

67250623076

Correct Ans : B

Subject : Mental Ability

Q.No: 75 Ifin a certain language, MACHINE is coded as LBBIHOD, which word would be coded as SLTMFNB?

2426537

I T PfFT 41 §, MACHINE $ LBBIHOD & U ¥ SIS fobam St 7, o 759 Wsg &1 SLTMFNB & 0 & Sifsd fovan smem?

RKSLEMA
A

RKSLEMA

TKULGMC
B

TKULGMC

RMSNEOA
C

RMSNEOA

TMUNGOC
D

TMUNGOC

Correct Ans : B
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430222 ynown facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: Money plant has thick leaves and they require little water.
Conclusions:
1. All plants with thick leaves require less water.

II. Money plants may be grown in places where water is not about its abundance.

Frofefaa wsii &, < F QA 1, 11 $7 SFRRU SR § SMUS! SHT Ul R TR S 8, 4 @ § ok | F1d auil § welid 89 @if| smuet 4w R e wue % At fsed g A et T

FU: T e & W T B § ok S $F UFl # sraxad gt §1
s

1. ™ ufvdt art wd) diell 1 H1 ur) B ofaREmd gl

I1. T Wi S5 6T W 3T o §ehd § T Ul Bt R el 81

Only conclusion I follows

A
Faa fFepd 1 s Fvar §
Only conclusion II follows
B
o Femd 1T SER0 T
Either I or II follows
C

1A 1 97 1T IR0 Bl §

D Neither I nor II follows
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T I 3R T & 11 TR BT ¥

Correct Ans : B

Subject : Mental Ability

Q.No: 77
2430251

In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements:

1. Rani has 6 pens.

II. No one else in the class has 6 pens.
Conclusions:

A. All students in the class have 6 pens

B. All students in the class have 5 pens each

C. Some of the students have more than 5 pens

D. Only 1 student in the class has exactly 5 pens.

Frofafea usit &, § T Q By 1, 11 T IR0 R § SAID! Sl YAl TR IR S g, 4 @ 9 SaR W 31 all § Uelld 89 @il eush! 3w T T st & afg fresd 81 dt St 9am

FY:
1. T & U 6 T 7

I1. Fe & forelt ol % o 6 T T R

e

ATt & Wi frenfidl & o 6 1§

B Fe&l & Tt frenidi & T yds F U 5 T E
C Fo foenfifel & ur 5 § ofte 09 §

D T& § Faw 1 el & o diw 5 W |

Only conclusion I follows

Fad ey 1 SR Far ¥

Only conclusion II follows

e Fepy IT e ST §

Either I or II follows

U I 97 1T SRR el §

Neither I nor II follows

T 1 &R T Ix SR HRal &

Correct Ans : D

Subject : Mental Ability

Q.No: 78
2435464

In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. Some erasers are pencils.
1. Some pencils are pens.
Conclusions:

I. Some pens are erasers.

II. All erasers are pens.

=1 3w T vy & <) o SR TP a1E < e 1 ok 11 T Tw B st T T @ Y W AT ], IR A IERe: 9 aet 3 i veda g §, s fofa e § 6 RRw T e F S o
A SR el B

P

1. 3% Ws U@ B
I1. 3o @t §1
frsp:

L. 33 H WS T
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I1. §HI S T 81

Either conclusion I or II follows.

A
77 Y Sy I 9T 1T 3R &l 81
Neither conclusion I nor II follows.
B
T e 1 iR T S I IR R 71
Only conclusion II follows.
C
P e IT 3R & B
Both conclusions I and II follows.
D

SRl Y 1 @R 1T SRR 3 B
Correct Ans : B
Subject : Mental Ability

Q.No: 79 Two statements are given, followed by three conclusions numbered I, II and III. Assuming the statements to be true, even if they seem to be at variance with commonly know
2435524 \hich of the conclusion logically follow(s) from the statements.

Statements:

All drums are sticks.Some drums are boxes.
Conclusions:

I. Some boxes are sticks.

II. Some sticks are drums.

II1. All sticks are drums.

QA HYA & g ofIF e 1, 11 IR 111 T e ¥ T TE Sy Y I e g, A & @ IRIa: 1 audt & ary faeRor 1§, ol & 5 o frsed o sy 1 aifbe T § SR
T

it g7 f&w g

To A a8

e

1. $% 99 R T

1. $% f&& gA gl

L 9 few ga {1

Only conclusions I and II follow

Paa Y 1 3R 11 TR0 FRA &

Only conclusions I and III follow.

aa Frepd 1 R 11T SFRRY F3a &

Only conclusions II and III follow

e e 11 &R 111 3Ry o €

All the conclusions, I, II and III follow

woft fsf 1, 11 SR XX SR R §

Correct Ans : A
Subject : Mental Ability

':22;"‘;08:5?7 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
0>P>Q, R>S>T, R>Q
Conclusions:
I. 0>Q
II. T>R
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TIFATIRIT 9T &, BUAT & dIg, foisady 8T 9T Gl

f&T 1T et & R W Ay &7 e Y AT 319 3o & §F 7 S faded T a8 il
Y

0>P>Q, R>S>T, R>Q

oo

I. 0>Q

IL. T>R

If only Conclusion I follows

A
Foa Frrd 1 9@ §
If only Conclusion II follows
B
Faa e 11 9@ §
If either Conclusion I or II follows
C
A A aa?
If neither Conclusion I nor II follows
D

Eifz Lo f 8 b &

Correct Ans : A
Subject : Mental Ability

‘;2;"‘;‘253618 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
Y=T <F= G
Conclusions:
I. YXF
II.G=F

fFafafia we &, Fuet & arg frsed fqu a7 §)

T 7T FUAT & HUR R FFT &7 Heqa 1 A 379 3ea{ & §I A 39Gad fawed o 99 Fil
=

Y=T <F= G

forsad:

I. Y<F

I1.G=F

If only Conclusion I is true

A
Faa Fref 1 9@ 3
If only Conclusion II is true
B
Fra i I wa s
If either Conclusion I or II is true
C
o Frspd LA 11 v §
If neither Conclusion I nor II is true
D

AR I RTRIITTR
Correct Ans : A
Subject : Mental Ability

Q.No: 82

5438597 In the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statements:

Cz2A>B=2D

Conclusions:

I.LAz2D

I.C>B
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fAFATRad 9 &, FUAT & die, oy 6T 717 £

f&T 31T el & HUR WX oo &7 37eade Y A A 300 & &9 & 39gwd [aaed &1 ad Hi
HYe

CzA>Bz2D

e

ILLA>D

I.C>B

If only I follows

A
Faa Prf 190 §
If only II follows
B
o e 11 T §
If either I or II follows
C
gl ravad
If neither I nor II follows
D

ARSI ARSI T’

Correct Ans : B

Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439083 ynown facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All candles are handles.
Some handles are sandles.
Conclusions:

I. Some candles are sandles.

II Some handles are candles.

2 forw mu iRy F &) B a1 IU% U < Frepy 1 au 11 Ru e F | ey 2T T Sy Bl I AR S, WA & 95 Tdwid audl A i wlta 819 8 aut oyl % SMYR W AU 3T IR &1 §
FY:

Tt Amafri g7 1

TT tod 4 ol

frsp:

1. 3% Aafyl Jsd 8

11 $8 §0 HafE!

Conclusion II follows

Frsp 11 SITEROT HRal ¥

Neither conclusion I nor II follows

90 e 1 3R 7 € frep 11 oo a1 §

Conclusion I follow

e 1 3ER0 B §

Both conclusion I and II follow

e 1 SR 11 ST SR PR §
Correct Ans : A

Subject : Mental Ability

Q.No: 84 Arrange of the following words in a logical and meaningful order.
2442670

1. Cloud

2. Torrential rain

3. Devastation

4. Rain

5. Low Pressure
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6. Flood

Frafafea wsdl o1 Ue difthes ud siefquf s § ovaiud i
1. S€a

2. YR auf

3. fawdw

4, a9f

5. P4 garg

6. dlg

5,4,1,2,3,6

A
5,4,1,2,3,6
5,1,2,4,6,3

B
5,1,2,4,6,3
1,5,4,2,6,3

c
1,5,4,2,6,3
5,1,4,2,6,3

D

51,4,2,6,3
Correct Ans : D

Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442679

1. World

2. Country

3. City

4. Continent

5. State

e skl 1 T aife Td siefyefl %0 § el Fifvm
1. fay

2.3

3. TR

4, WETE

5. A

3,54,2,1

3,5421

3,2,54,1

3,2,541
3,5241

3,5241
53,241

53,241
Correct Ans : C

Subject : Mental Ability

Q.No: 86 Which of the following is divisible by 6?
2427593

Pofafa ¥ 4 o 6 A favrsa 82
A 101201
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101201

865219

865219
4598215

4598215
7892100

7892100
Correct Ans : D

Subject : General Aptitude

Q.No: 87 Ifin a triangle ABC, AB = 7 cm, BC = 11 cm and AC = 6 cm, then the corresponding angles of the triangle in ascending order of magnitude are

2431343
afg AABC H, AB = 7 Iff, BC = 11 Tt a1 AC = 6 It |, o 0N & T & Far e 82
A ¢A < B < 2C
¢A < ¢B < «C
B ¢C < B < A
2C < 2B < A
c B < ¢A < «£C
2B < 2A < 2C
D 2B < 2C<zA

¢tB<2C< A
Correct Ans : D

Subject : General Aptitude

Q.No: 88 The speed of a car increase by 2 km/h after every one hour, If the distance travelled in the first one hour was 35 km what was the total distance travelled in 12 hours?

2435978

PR B M TS TF § & 915 2 km/h Tg 91l §1 3 U501 T H H T B g 35 km A 12 6 H @t 1 a1 g8 e e

558 km
A

558 km

650 km
B

650 km

560 km
c

560 km

552 km
D

552 km

Correct Ans : D

Subject : General Aptitude

Q.No: 89  Speed of a boat along and against the current are 14 kms/hr and 8 kms/hr respectively. The speed of the current is
2436009

T AT @) R UR F @y IR e e § wur: 14 5.1 /de ik 8 . f./wer 31 4Rt @ fy e 82

11 kms/hr
A
11 . . sder
6 kms/hr
B
6 . . sder
5. 5 kms/hr
C
5. 5 f&. #il. /e
3 kms/hr
D
3 f. #/der

Correct Ans : D
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Subject : General Aptitude

Q.No: 90 A starts walking at 4 kmph and after 4 hours, B starts cycling from the same point as that of A, in the same direction at 10 kmph. After how much distance from the starting p
2436021 ith A (Correct to two decimal places)?

AT fog & 4 frlt iy a1 39} 1Y & 9o T R § 9k 4 € F 915, B I fig § 10 5 vfa der 9 via & S fexn F wefea Tem g axar 3, | RS fig d et g S e B, A DT
1P A /M T )?

24.67 km

24.67 T,
26.67 km

26.67 f&.AL
25.67 km

25.67 f&.
23.67 km

23.67 &t

Correct Ans : B

Subject : General Aptitude

Q.No: 91 A train travelling with uniform speed crosses two bridges of lengths 300 m and 240 m in 21 seconds and 18 seconds respectively. The speed of the train (in km/hr) is-

2436024

300 Hex 9T 240 Hiex T & Y&l $ UR F H TP IS §RT HARN: 21 I3 a1 18 Yabvs H1 W foram e 1 Yemst &t fy (fefh. /e &) % -

72 km/hr
A

72 . b

68 km/hr
B

68 f. /der

65 km/hr
C

65 fael. 7vier

60 km/hr
D

60 f&. /der

Correct Ans : A

Subject : General Aptitude

Q.No: 92 An zetplane started at 30 min later then scheduled time from a place 1500 km away from destination to reach the destination at scheduled time pilot has increased the speed «
2436043 km/h. Find the speed of zetplane.

TF e 1500 ot Bt g Ta F3 & fog som fFeffva gma & 30 fime &8 & 9o §1 Fuffd 999 R 1§ & o Sew s 250 fel/ser 3t 1fd 91 &1 31 df SewH 1 arafas ard &d

500 km/h
A
500 fadt/ver
750 km/h
B
750 fst/ver
250 km/h
o
250 fafi/der
1000 km/h
D
1000 f&Hi/der

Correct Ans : B

Subject : General Aptitude

Q.No: 93 The efficiencies of A, B and C are in the who 4 :5 :6. Working together, they can complete a work in 12 days. in how many days will A alone be able to complete that work?
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2436077

A, B 3R C 3} STi-4d] &1 30T 4:5:6 1 TF WY HIH H G I TS S $Y 12 A 7 90 9% I$Hd B, A T S I 3ibal fba ot & g e qrom?

40
A
40
as
B
as
30
o
30
36
D
36

Correct Ans : B

Subject : General Aptitude

Q.No: 94 A, B and C can do a work in 7, 8, 9 days respectively. For completing the whole work they get Rs.3056. Find the difference in A's and C's share. (in rupees)

2436127

A, B3R CHA: 7, 8, 9 fal Hf U $11 IR Uhd ¢ | I S TH A & ¢ 3% 3056 T e g1 dl A 3R C F el &1 Sick 31 HRI(F0 H)

144
A

144

256
B

256

112
o

112

196
D

196

Correct Ans : B

Subject : General Aptitude

Q.No: 95 The number 23474 is exactly divisible by:

2436151

23474 Jem Fafufed ¥ 3 g ven 3 3 @e fAvsa g1

2 and 4 only
A

Faa 2 iR 4

2 and 11 only
B

Fae 2 $iR 11

2 and 3 only
C

Fad 2 R 3

2 only
D

Fa 2

Correct Ans : B

Subject : General Aptitude

Q.No: 96  The sum of all possible three digit numbers formed by digits 3, 0 and 7, using each digit only once is:
2436152

3, 0 QT 7 31 & Had TP TR W RS & dF il &t gt dufda demsit &1 am @ geme
A 2220
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2220

1990

1990
2110

2110
2010

2010
Correct Ans : C

Subject : General Aptitude

Q.No: 97 If the seven digit number 56x34y4 is divisible by 72, then what is the least value of (x + y)?

2436160
g I Sidt BT TSI 56x34y4, 72 F AU §, @ (x+y) BT HaH AF 1 82
5
A
5
14
B
14
8
(o
8
12
D
12

Correct Ans : A

Subject : General Aptitude

Q.No: 98 Finding the HCF by long division method, the quotients are 3, 1 and 3 and the last divisor is 6. Find the sum of both the numbers?

2436983
g wm Ay § 7. 90.0. 719 FA B UATHE 3, 1 SR 3 quT $Hfa UIeE 6 1 ST TRenat 1 AT J1d Fifere?
115
A
115
114
B
114
112
C
112
84
D
84

Correct Ans : B

Subject : General Aptitude

Q.No: 99 If the product of three consecutive numbers is 210 then sum of the two greater number is -
2444623

I T FOmT Sl F AT 210 B, A < I8 G T IR FW-

11
A
11
15
B
15
C 13

13
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17

17
Correct Ans : C

Subject : General Aptitude

Q.No: 100 What should come in place of question Mark ‘?’ in the following number series?
2444662

440, 360, 288, 224, ?

Frfafaa de e & U &5 7' & RIFE W 1 3g?

440, 360, 288, 224, ?

170
A

170

169
B

169

168
(o

168

171
D

171

Correct Ans : C

Subject : General Aptitude
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